29000 A FEEMEI+ 2 EEEL AR

7= miiEA

ME
BETHM 1.4308,
B+ K142 1SO 4762 MAAER 1ISO 4032 , NN,

A
ATEENRET,

BEEK :
K BRI IR,

M4
- EEEMAFE 29050

THS B3] A B C D E L P Q R S T
29000-11212 A 12,1 121 20 25,5 25,5 64 | 23 | 23 | 49 M6x18 M6x18
29000-11414 A 14,1 14,1 20 25,5 25,5 64 | 23 | 23 | 49 M6x18 M6x18
29000-11616 A 16,1 16,1 20 25,5 25,5 64 | 23 | 23 | 49 M6x18 M6x18
29000-11818 A 18,1 18,1 20 25,5 25,5 64 | 23 | 23 | 49 M6x18 M6x18
29000-12020 A 20,1 20,1 21 25,5 25,5 64 | 23 | 23 | 49 M6x18 M6x18

© norelem www.norelem.com



20000 A FEME+EEEEL AR

© norelem www.norelem.com



